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(i) S8R ENC-
[Pascal KR Z5 ]
procedure ENC;
var
i, j, k, current : integer;
begin
k = 1;
P[1] := BD[1l,1];
Qm==| ;
current := f
for i := 1 to 4 do
for j := 1 to 4 do
if (BD[i,]j] = ) then
Qlk] := Q[k] + L J
else begin
k := k + 1;
P[k] := BD[i,]J];
Qlk] := ;
current := BD[i,j];
end;
end;
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void ENC() {

int i, j, k, current;
k=1
P[1]

I~

BD[1]([1];

| |,

’

Q1]

current =[ 1 ;
for (i=1; i<=4; i++)
for (j=1; j<=4; j++)

if (BD[i])[]] == [

Qlk] = Q[k] + L

else {
k++;
P[k] = BD[i][]j];

Qlk] =[

’

current = BD[i][j];

[Visual Basic §f§ 25 |

Sub ENC ()

Dim i, j, k, current As Integer
k =1
P(1) = BD(1,1)

Q(1) | |

current = L ]
For i = 1 to 4
For j = 1 to 4

If BD(i,j) =

Then

Q(k) = Q(k) + L

else
k =k + 1
P(k) = BD(i,3)

Q(k) =

current = BD(i,j)
End If
Next j
Next i
End Sub
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k = 1;
P[1] =

k, current;

BD[1][1];

Q1] =|

|,

’

current =[
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j<=4;

i++)

3++4)

I ;

if (BD[i]([3j] == I

Qlk] = Qlk] + l

else {
k++;

P[k] = BD[i]([]];

Q[kl] =|

|,

current = BD[i][j];

}
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